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The figures in the margin indicate full marks
for the questions

1. Answer as directed : 1x10=10

(@) Neutrality in politics is possible only in
merit system/spoil system.
(Choose the correct one)

(b) D. S. Kothari Committee submitted its
reports in the year 1966/1976/ 1986.
(Choose the correct one)

(c) National Academy of Administration is
established in Mount Abu/Mussoorie/
Simla. (Choose the correct one)

(d) The Railway budget was separated from
the General budget in the year 1921/
1931/1951.  (Choose the correct one)
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(2)

(e) The budget is presented to the Lok

Sabha by the President/Prime Mlmster/
Finance Minister.

(Choose the correct one)

(ff/ Name 4 Ps of development
administration.

(g9 Development administration is a
by-product of the comparative study of
Public Administration in developed/
developing/underdeveloped countries.

(Choose the correct one)

(h) Write one characteristic of Lokpal.

(i) Bihar/Orissa/Maharahstra was the first
State of India to appoint a Lokayukta.
(Choose the correct one)

() Write one difference between Minister
and Civil Servant.

2. Answer the following questions : . 2x5=10

(@) Write two arguments in favour of ment
system.

(b) Mention two characteristics of Max
Weber’s theory of Bureaucracy.

(¢ Mention two differences between
auditing and accounting.
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(3)

(d) Mention two methods used by Indian
executive to control over the public
administration. ,

(e) Mention two advisory functions of UPSC .
in India.
3. Write short notes on any four of the
following : ! _ S*x4=20

(a) Seniority and merit. principles of
promotion

{b) Characteristics of Civil Service

(c) Importance of Committed Bureaucracy
in India

(d) Deficit budget and surplus budget

(e) Contribution of Fred W. Riggs in
development administration

() RII

4. Answer the‘following questions :

(@) What do you mean by training? Discuss
the various kinds of training. 3+7=10

Or

How is the Union Public Service
Commission composed in India?
Discuss the powers and functions of
this Commission. 3+7=10
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(4)

(b) What is ‘Budget’? Discuss the principles
of budget. 3+7=10

Or

What is Audit? How far the Comptroller
and Auditor General of India 1is
independent in discharging his duties?
Discuss. 3+7=10

(¢ What do you mean by development
administration? Discuss the basic
characteristics and importance of
development administration. 3+7=10

Or

What do you mean by ‘Bureaucracy’?
Discuss the role of Bureaucracy in
developing countries. ‘ 3+7=10

(d) What do you mean by control over
public administration? Discuss various
means of the Legislative control over
public administration. 3+7=10

Or

What do you mean by ‘Lokpal’? Do you
think that introduction of Lokpal
institution would be able to eradicate
administrative corruption in India?
Discuss. ' 3+7=10
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